[F2D/INR (BF « EUWHXIR) OBRICDNT

1 B&ESRA
B iR B £5 - BUXR
N & | BXETE. ETstB0E®
2 8 [BBRADFER. ZNICHDIETY A PRUI—EDEBZEIT DD,
EEFEH | HH3F4818 (K
NZADEDBZDFTEDONBEEZQ LT DTH. U EHBLUTUDME
REYDIFES | BHEBEYY —CBNUDAD/NRO—Y ) —NFLD/NNRZED AN
DU,
R COBBABICONT, RRNEOR/DBNIICEISZEVEIZELL),

2 IBRNIEN

INABROE

T XR
(SSHY/IR)

HERHIE

B2

3 FRRUBMERIEBFMIERN

A2 —(FER)

" "“‘\\ :
\

&T!

SERXEERE | 0.2 km (BEEBPIRI~EEEH YYD
(ER=-[IIE BEtEYY— (R
R3/2/12 RLZEER XRERUL
SRITE R3/2/12 Esd (™M) REXEGSL
R3/2/12 EEBMEEFTRERES Hon
s —REBIRATDO—Y ) —DIEH. NAUFBIOSEIC [\RF) &
#RECo
ZOMFRESIRE | « SIXR—FIIUIE AS B ZRE& I DISBPTICHRT L. ZBITIBIR
TR
« NZO—H) —([C[EBZEK/ NAKISIRER D ANTFEDIZOH .




3 EfTHR

BTHE
EWIE | @IS
BIEEE | HARUAE=E
gog | NS
= BUL. FkEE (12820 8~1838) . REILEKRT S,
sEWb—F (18.3km)
S~ e~ S~ BRI ~285 v
slib—F  (11.2km)
HE~/N\Z )T S~ DR ~ES "y D
IBIeDBE |
SEWb—F (189km)
SBOTY Y —~ T ~EBET VY —~EHT )~
g)l—F  (11.6km)
HE~N\Z ) E F~BEEYS—~E2BT v
IAFEIT AT Q05 34 D BIRFET T 12 85 30 4
sS4 |BWL—F (uEB) 2@
SIL—F (NIEB) 2@
_ ZlL—-+ 518 — 535
TEEE gi—r 312 - 322
&3t 248 — 25&7
R | DU—mERRE  SEWL—k TS HS TEEEE
El—F TMal e TN\ /E+ XE
—EE300M {BL. MEEMEFBREMT. BANSF ERRED /2
BRS8N
BE B 300Hx%F 12T 3,000H
EHEGITEES 300 MK : 10,000 M/,
6,000 H/6 58
Vv URIDY— (BEES 10 8)
BITEEM BmYr X (EX 5380mm/ 1 1880mm/ 3 2280mm/

BMHESE 2960ke)

4 ETRBETORATIa—)

By NB
2R228 (XB) |BIBHIBEEREH
SBLEY I 574N\ RAVy TSPEM 5ZIK < ET)L— )
4818 BEHEYAY—/NNRO—9) —HFEEIS
48568 EfTFIETRE




N SN
A R
ﬁ I
2= -FIMRES v (KEBHET) 2z
= RN NEL] Jra— RN NEL] 3\ ¥
B %) | BRI | (km) B %) | BRI | (km) % P >
158 3EH Wi
FHtE2— _ R
o i o 8:34 EH)=vy 11:00 ~ @
BB S it * E\% / e X
A H X Fr Al 8:35 1] 02 JAREH X & 11:02 2] 05 % ~
Fét b 8:50 15| 55 REHt2— 11:05 3| 1.0 i >
FE&T 8:52 2| 09 |EEHXATAI 11:06 1] 02 t
¥ 8:54 2| 04 [®ER 11:11 5] 1.1 = REANE
L 8:57 3| o5 |EB 11:18 7] 30 : i - =
Bl 8:59 2 05 BB 11:23 5] 34 > T 4 < ~ 2 Y z
4F N 9:01 2] 05| [A4FXAn 11:26 3| 1.2 ) & % < ,
SEIE 9:04 3] 12 RN 11:28 2] 05 - SEs
% 9:09 5] 34 HiE_E 11:30 2| 05 == 3
5EiR 9:16 7] 30 FF 11:33 3] 05 g o Q)
BEHEt 53— 9:21 5| 13 [E&#T 11:35 2| 04 I > )
&8 X AT A 9:22 1] 02| [E#E 11:37 2] 09 & J f )
% VEI R E 7 m\J;
JASEH S 9:25 3| 08 o o~ o s 11:52 15| 57 /)
SAME AR n “ e %
EH0)=-vD 9:27 21 05 a8 52 | 18.9 # ] ,
= 53 | 18.9 g AT
< {57 e
2FH - i%H | 7 Ema <
fiEb] 10:10 EFH7)=y7 12:30 (e v, Z R T
DA 10:11 1] 05| [JABEEZIE 12:32 2|05 - b\t z ) = Iz
=8l 10:12 1] o04] [EEEtH— 12:35 3] 10 5 %&E 2 ) &
HEZ 10:13 1] 02 &E FH X FT Al 12:36 1] 02 SLEH !
R 10:14 1] 02 [2E/NPER 12:37 1] 04 -2 ; A / 5
INT /IR 10:15 1| 05| [MEES 12:41 4] 1.2 Y i 1 <, Y
it 10:16 1] 05 Tit 12:49 8| 35 T L S By
AXINY 10:19 3| 14 NZ/ER 12:52 3| 07 % A= N L 5 =
NZX/EL 10:20 1] 03] XNy 12:53 1] 03 & ' =
Tit 10:23 3| 1.1 it 12:56 3] 15 b |
M E AT 10:31 8| 35| [hT/R 12:57 1] 05 Zaeth) 7 4 AR =
e 10:35 4| 12| [PE= 12:58 1|05 GEER o
RHtH2— 10:36 1] 06 HEZ 12:59 1] 02 L
%A H X BTl 10:37 1] 02 = il 13:00 1] 02 \ S
JAZEA X & 10:40 3] o8] [t 1301 1] 04 B =
EHI)=v) 10:42 2| 05 i 13:02 1{ 05 c = o 1
= 32] 11.6 85 32] 11.6 ) : g;
& 2 E | -
s I N A g
= < YA D W | g
| I i lom | X8
= N 7 2| g K| E
S 3 vl IV L I
=~ L 4 HE -1
A\ 2 | L] = -
1B R =2 2|1 ﬁ\gv
S l13|=
i i | = IS
= =
)1
7 / 5 J |
% {0d > SIS I
ﬁl[q - S oﬁp I
\'\ a
; ;4 “Qo SR MR& I 23
«‘ LN = Y






